(0 @) (rad)

SICEWATL

o p/p.)

a(d cot(d))

1072

[y
TTTT] T

0.95

1

o F
S F
24 E
G G 4 A A G U U U e
2 3 095~ 1 : 2 3
1 10 0, - 10™ 1 10 0, - 1
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_V0001_R000000001__Global__mkFit_original
—— DQM_V0001_R000000001__Global__mkFit_pless
€ :
S . L i I
o L.......
2 L
S 4]
abgul] 1 AR 1 ||||||! L .910\—1%_ Ll .! 1 e .! L ||||||! L
1 : = F I E
4 : o [ ;
W PR U0 e | I PR ¢ TY BN Y U U0 7 U U T U G
10 0 .10
TPp, (PCA tlo beamline

[any
<
i

.......
N 3 SO O T
- H

R — x| .
SRR 311 11 Y TS S

—1 ; I :2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


